(* Problem 1 | Quiz 39 | A period =)

2= RegionPlot[x >2y"2 && x<4+y~2, {x, -1, 5}, {y, -5, 5}, Axes - True]

Out[2]=

2L 4

4+ _

ne= Integrate[(4+y"2)-(2y"2), {y, -2, 2}]
32

outigls —
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(* Problem 2 | Quiz 39 | A period )
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n4:= RegionPlot[0<x<1l-y~2, {x, -3, 3}, {y, -3, 3}, Axes - True]

3 -

Out[4]=

_2b i

(* Problem 3 | Quiz 39 | A period =)

ne= Plot[1-x"2, {x, -3, 3}]

L 1 2 3
_2k
Out[6]= L
4
_Gk
_8k

n1= Integrate[4 (1-y), {y, O, 1}]

outftl= 2

(* Problem 4 | Quiz 39 | A period =)
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n4:= RegionPlot[y"2+1<x<2, {x, -3, 3}, {y, -3, 3}, Axes - True]

3 -

Out[4]=

_2b i

ns= Integrate[2Pi (y+2) (2-(y"2+1)), {y, -1, 1}] (> Shell Method =)

16 71
outfsl= ——

3
(+ Problem 1 | Quiz 39 | F period )

o= Plot[{x”~ (1/ 4), Sqrt[2-x]}, {x, -1, 5}, Axes » True]

1.5

Out[10]=

e
2= MyArea = Integrate[(2-y"2) - (y"4), {y, 0, 1}]

22
nf4= — [/ N
15

outt4= 1.46667
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(* Or as a dx type #*)
n3= Integrate[x~0.25, {x, 0, 1}] + Integrate[Sqrt[2-x], {x, 1, 2}]
ouiz= 1.46667

(* Problem 2 | Quiz 39 | F period )
nie= Plot[{Cos[x], -1}, {x, 0, Pi/ 2}]

1.01

0.5

out[18]=

-05r

-1.0+

(+ Problem 3 | Quiz 39 | F period )

inz0)= RegionPlot[9x"2+4y~2< 36, {x, -5, 5}, {y, -5, 5}, Axes - True]

out[20]=

L L L L
-4 -2 0 2 4

(* Each triangle has dimensions: m, m,

and Sqrt[2]m. Since the hypotenuse is also y+y = 2y,

we find: m = Sqrt[2] y. The area of a typical cross section is: m"2 /2 =
2y*2 / 2 =y"2. In terms of x,

then the area becomes: A(x) =y "2 = (36 - 9x™2) / 4 . %)
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n2i]= Integrate[(36 - 9x°2) / 4, {x, -2, 2}]

out21]= 24

(* Problem 4 | Quiz 39 | F period )

ne4- RegionPlot[0<x <1 & y<x"3 & y >0, {x, -2, 2}, {y, -2, 2}, Axes » True]

2 ]

Out[24]=

-2 -1 0 1 2

in25= WasherVolume = Pi Integrate[l1"2 - (1-x"3)"2, {x, 0, 1}]
57

out[25}= ——
14

(* Or Shell Method: =)

nee)= Integrate[2Pi (1-y) (1-y~(1/3)), {y, 0, 1}]

5
Oout[26]= ——
14



